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https://www.100test.com/kao_ti2020/449/2021 2022 E5 93 88 E
5 B8 8C E8 Al A8 E7 c97 449171.htm #include #include
#include #define L50 /*00 U O O O O */#defineM 47 /0 O p

[ */#define N 30 /*0J OJ O O O */char z[22].struct old{char
*name.char *py.int k.}.struct old oldlist[L]./*0 O O */struct hterm{
char *name.char *py.int k.int si.}.struct hterm hlist[L]./*0 U O */int
l,adr,sum,d.char chl.float

ave rage . /********************************** /VO | d Ch aSh () {for
(i=0.i {hlist[i].name="". hlist[i].py="". hlist[i].k=0. hlist[i].si=0. }.
for (1i=0.i { sum=0. adr=(oldlist[i].k)%M. d=adr. if(hlist[adr].si==0)
{hlist[adr].k=oldlist[i].k. hlistfadr].name=oldlist[i].name.
hlist[adr].py=oldlist[i].py. hlist[adr].si=1. } else {do {d=(d
((oldlist[i].k)) 1)%M./*00 OO O */ sum=sum 1. } while
(hlist[d].k!=0). hlist[d].k=oldlist[i].k.
hlistfd].name=oldlist[i].name. hlist[d].py=oldlist[i].py.
hlist[d].si=sum 1. }

}} /*************************************** /VO | d fl nd h I | St() { | nt
sO.char r,g. clrscr()./*0 O */ for (r=0.r gotoxy(1,1).printf("] [

I copyright by 0O [J [0 2003.6"). gotoxy(5,10).printf("LJ OO0 I OO [
(1 0"). gotoxy(5,12).scanf("%s",z). s0=0. for (r=0.r gotoxy(5,13).
printf("%d",s0). /*for (i=0.1 sum=1. adr=s0%M. d=adr.
if(hlist[adr].k==s0) { gotoxy(18,18).printf(" ").
gotoxy(18,18).printf("%s",hlist[d].name).
gotoxy(18,19).printf("%s",hlist[d].py). gotoxy(18,20). printf("J [



%d I ",sum). getch(). } else {if (hlist[adr].k==0) {gotoxy (18,18).
printf("LI OO 0O ™). getch(). } else {g=0. for (i=0.9g==0.i ) {d=(d sO
1)%M. /*00 O O */ sum=sum 1. if (hlist[d].k==0) {gotoxy (18,18).
printf("OJ O O !'"). g=1.getch(). }. gotoxy(18,18).
printf("%s",hlist[d].name). gotoxy(18,19). printf("%s",hlist[d].py).
gotoxy(18,20). printf("L0 OO %d [ ",sum). getch(). if
(hlist[d].k==s0) { g=1. gotoxy(18,21). printf("J O %d I [

O !"sum).getch().}.}.}.}}100Test U O D OO OO OO OOO
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